gr 7 u1 pat day 12 graph rel Solutions to page 33 &34 Oct 30.notebook = November 08, 2022

|y a

uu\_,Jh_Uu & _/

1 Grade 7
Input | Output
: v g%:_i] a) Fill in the output (show work)

3

2 n ¥ “b’) Draw a graph on graph paper that shows the relation
3 \“ c) Use the graph to answer the following:
4 1 i) What is the output fort v = 107?
5 20
© zN

i) What input value gives the output of 29
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3. a} Copy and complete this Input/Cutput table
Lo Shetier Fevw B — o i related Lo g
bl Graph the relation.
What scale did you use on tha wortical axis? gL
Hows dlid you make your chalce
c} Explain how the graph illustrabes the rrlﬂrinn.%
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Homewgrk Solutions

B. Aalmisiion Lo Pun Flage g 55, Hember of
—
k | GoeCaat
Eac n.:|n:- cart rr:_tle casts an additional 53 3'\ (W 5
al Wirite & relation to show how the total cost
o is related ta the number of Qo-Lart Ficdas

il
b} Copy and comiplete this table 1

— c} Diraw a -'='|I'-EI|:l|'I Lo shvy The relation, .
Diescribse thie graph. 1
i

3

df L the graph to andwer thaie questions:
iy Erik goas on & go-cart rides,
What i his tatal cose?

i} Before entering the park, Lydia has 530 20
Hevwy eary ga-carl rides can she aflard?
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6. Match each graph to its relation Hgme%’gg}g%lgtlgns

4} The number of seashells collected is related ( (') Input | Output
to the number of students who collacted II
Thiere are 12 seashiells bo start, \s l ‘_
Each student collects 3 daashells, -& 0 2 b V\
bi The number of counters on the teacher’s desk is rfl-g.tel:l z [ ‘
29

Loy The purmbser ol studkerils wing rémose I'.I:IIJI"Il.E'l'!'.."‘ L I
There are 36 counters to start, 4

Each student remaoves & counters C\

) The money earned baly-sitting |s related to the®numbe
of hiours warked, The babay-sitter carns S67h,
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T« Akuti borrows 575 from her mother to bary a new lacrosse sticke Home%g!'&é%ll"tions
She promises to pay ber mother 55 sach wesk until ber dabi is paid off

a} 'Write a relation to show how the amaount Akuti owes is related to
the nurmber af waekd,
Number of Money owed

b} Make a table for the amount owing after 2.4, 6, 8 and 10weeks. ook

¢) Dwaw & graph to show the relation. Describe the graph. 0 7 E i‘s

d) Use the gragh to answer these questions: 1

~J

i} How much does Akuti owe her mother after 13 weeks?

2
) W b will Akut] finish paying ol her debn?
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8. ASSEEEMENE OIS (e the relation: 5n + 6 related ton  iOMeWQrk Solutions
a} Describe a reaHife stuation that could be represented by this relation,

b} Make a table of values using approprate Input numbers
¢ Graph the relation. Describe the graph,
dh Write 2 queitions you cauld anseer wsing the graph.
Answer the questions,
Step-by-Step 6

Lesson 1.6, Question 8

Step 15n + 6 related to n could describe the amount of money I've saved after n weeks,
if | started with $6 and saved $5 per week.

Describe another real-life situation that this relation could represent.

Step 2Complete this table of values for the relation.
Use Input numbers that make sense with your
real-life situation.

Step 3Plot the data in the table on the grid.
Choose a scale for the horizontal axis

that fits your Input numbers.

Horizontal scale: 1 square =

Choose a scale for the vertical axis

that fits your Output numbers.

Vertical scale: 1 square =

Step 4Write two questions you could answer
using the graph, then answer each question.
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Homework Solutions
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Section 1.7 Reading & Writing Equations Y

Write an algebraic expression for these statements: Q
Think of a number. N -
Multiply by 2. oA n
Add 3. 2n +3

Expressions have NO EQUAL sign
What if...
| tell you the answer is 13. What is the original number?
2n+ > = 13
A~
R 3
2.
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— e, ek

Tim bought 6 Shirts. Each shirt cost the same T

amount. The total cost was $72. What was the cost vv, ] ’
irt?

of 1shi? \ = Cost of 1 Shied L

How could we relate this algebraically?
oD <& S & Y Y
T TTT -
on = 12

Write an equation for the situation.
Let "s" represent the cost of 1 shirt.
Then the cost of 6 Shirtsis ]2 .
This is equal to $72.

EQUATION is : Q) S = '7,2

10
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Equations have an equal sign

(One quantity is EQUAL to another quantity) Hﬁlwmgn___

In an EQUATION the variable represents a
SPECIFIC unknown number.

3x+2=11

X is a specific number

11
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*Always define the variable

Example:
Fegresent th
Write an equation for each: ldﬂ?\m&?‘
a) 7 less than a number is 10
AN
Nn—"7 = 10
b) 2 more than a number is 20
a+rn =20 Dr N+ 2Z =20

c) 6 added to 4 times a number is 14

- Un + 6 = 4

d) a product of 7 and a number is 77
AN~

multely
N =TT

12
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Class/Homework

Page 36 #1.43.4.6,7 \

10 £

30) Ab = basax ,I\etjh"

S+S+S+g b I
NN~ 35"-6* \fl
He =8¢

13
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